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  Maple 14.   

    = f (Bi, )  

      12-  

,     -

      -

   «with (student): Doebleint (f ( , ), 

  =  c   . . d  g  ,  = 0 . . p ); value (%);».  

        

   ,  

     Fo.  

   :

1.      R
 
, 

Bic = :

> eignmc := module ( ) global ; Bic :=  1; 

 := vector (8, [0.7, 4., 7., 10., 13., 16., 19., 22.]);

eq := Bic · BesselJ (0, ) –  · BesselJ (1, ) = 0;

 := array (1 ..8); for n from 1 to 8 do

[n] := fsolve (eq, ' ' = [n]); end do; end module;

> { [1], [2], [3], [4], [5], [6], [7], [8]};

2.    , Bib = Bi / cos2 : 

> eignmb := module ( ) global ; Bib :=  2; 

 := vector (8, [0.5, 3., 6., 9., 12., 15., 18., 21.]);

eq := tan ( ) – Bib /  = 0;  := array (1 ..8);

for n from 1 to 8 do [n] := fsolve (eq, ' ' = [n]);

end do; end module;

> { [1], [2], [3], [4], [5], [6], [7], [8]};

3.     

  :

> Dint := proc (F) global H; with (student) : Doubleint (F, 

 = 3.732 ·  ..1.0718 – 0.268 · ,  = 0 ..0.268);

value (%); end;

> eigfunc := module ( ) global H, r, OH, d, i, m; 

c := array (1 ..8); for n from 1 to 8 do 

c[n] := 0.75· [n]; H[n] := cos( c[n]·(  + 0.5744· )):

end do; OH := array (1 ..8); r := array (1 ..8);

OH[1] := H[1]; r[1] := Dint (OH[1]2); p := array (1 ..7, 

1 ..8); d := array (1 ..7, 1 ..8); m := 2; 

p[1, 2] := Dint (OH[1]·OH[2]); d[1, 2] := p[1, 2] / r[1];

OH[2] := H[2] + d[1, 2]·OH[1]; r[2] := Dint (OH[2]2);

for i from 1 to 2 do p[i, 3] := Dint (OH[i]·H[3]);

d[i, 3] := –p[i, 3] / r[i]; end do; OH[3] := H[3] + 

sum (d[k, 3]·OH[k], k = 1 ..2); r[3] := Dint (OH[3]2);

for i from 1 to 3 do p[i, 4] := Dint (OH[i]·H[4]);

d[i, 4] := –p[i, 4] / r[i]; end do; OH[4] := H[4] +

sum (d[k, 4]·OH[k], k = 1 ..3); r[4] := Dint (OH[4]2);

for i from 1 to 4 do p[i, 5] := Dint (OH[i]·H[5]);

d[i, 5] := –p[i, 5] / r[i]; end do; OH[5] := H[5] +

sum (d[k, 5]·OH[k], k = 1 ..4); r[5] := Dint (OH[5]2);

for i from 1 to 5 do p[i, 6] := Dint (OH[i]·H[6]);

d[i, 6] := –p[i, 6] / r[i]; end do; OH[6] := H[6] +

sum (d[k, 6]·OH[k], k = 1 ..5); r[6] := Dint (OH[6]2);

for i from 1 to 6 do p[i, 7] := Dint (OH[i]·H[7]);

d[i, 7] := –p[i, 7] / r[i]; end do; OH[7] := H[7] +

sum (d[k, 7]·OH[k], k = 1 ..6); r[7] := Dint (OH[7]2);

for i from 1 to 7 do p[i, 8] := Dint (OH[i]·H[8]);

d[i, 8] := –p[i, 8] / r[i]; end do; OH[8] := H[8] +

sum (d[k, 8]·OH[k], k = 1 ..7); r[8] := Dint (OH[8]2);

end module;

4.   (   -

)    :

> Raz1 := module ( ) global a, r, OH, Q, Q1, W, tQ; 

b := array [1 ..8]; a := array [1 ..8]; for i from 1 to 8 do

b[i] := Dint (OH[i]); a[i] := b[i] / r[i]; end do; 

Q := sum (a[k]·OH[k], k = 1 ..8); sort (Q); 

Q1 := convert (Q, set); tQ := sum (exp (– [k]2·Fo)·

Q1[k], k = 1 ..8); end module;

> tQ;  := tQ;

>  := 1;  := 0;
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